
oplocení

oplocení

chodník š = 2,0 m

vozovka š = 6 m

travnatý pás š = 1,5 m

O
bousm

ěrný provoz :

oplocení

oplocení

chodník š = 2,5 m

travnatý pás š = 4,5 m

Pěší provoz :

travnatý pás š = 1 m

oplocení

oplocení

travnatý pás š = 2,0 m

vozovka š = 6 m

travnatý pás š = 2 m

O
bousm

ěrný provoz :

oplocení

oplocení

chodník š = 2,0 m

vozovka š = 4,5 m

travnatý pás š = 1 m

Jednosm
ěrný provoz :

travnatý pás š = 1 m

chodník š = 2,0 m

12

oplocení

oplocení

travnatý pás š = 2,0 m

vozovka š = 6 m

travnatý pás š = 2 m

O
bousm

ěrný provoz :

chodník š = 2,0 m

chodník š = 2,0 m

oplocení

oplocení

travnatý pás š = 2,0 m

vozovka š = 6 m

travnatý pás š = 2 m

O
bousm

ěrný provoz :

chodník š = 2,0 m

chodník š = 2,0 m

14 14

oplocení

oplocení

chodník š = 2,0 m

vozovka š = 6,5 m

Jednosm
ěrný provoz :

travnatý pás š = 1 m

odstavný pás š = 2,0 m

jízdní pás š = 4,5 m

9,5
travnatý pás proměnlivý

9,5
8,5
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